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ln any A ABC, the following relationship holds :
2r m2m? wZwZ hZh: 27 R\®
27r2, ( ) <P B £ %, 27R2.<—) — 104r2
R w,wy hyh, m.am, 4 2r

Proposed by Zaza Mzhavanadze-Georgia
Solution by Soumava Chakraborty-Kolkata-India

mZmZ ww? hZh? - mZmi mim? N m?m? P“““EOPOI
W,Wy hbhc mcma ~ h hb hbh h h -
R\2 Panaltopol RZ 3
LIPS s 8 P
2r 4r- 4
cyc cyc

2.2 202 h2h2 27R%
mgm; WRWe c'la < 5 (1)
w,wp, hph, mcma 16r2

Agai 27 27112(R)6 104r2 > r27 27R2(R>2 104r?
ga1n,4. 35 r = 4 r

2r
27(27R* — 416r*) 2 27R* . . Euler
= Tor? ) 2 1oz © 26(R* — 16r*) S0-true R > 2r
27 R 27R4 via () m2mZ wiw? hZhZ
: 27R2, (—) — 104r? - > by b e,y <@
T4 2r 16r w,w, bhyh, mm,
20,2 2

2 2 2 6
a'*'b b"Yc + C < 27R2 ( ) 3 104r2
WaWp hth mcma 4‘ 2r
AlSO, m‘ZImlz) + waf h<21h¢21 > hczlhlz) n hlz)h% h%htzl Panaitopol 4_1.2

> > —. hyh
hyh, miam, m,my, mym, m.m, R2 z be
cyc

4r2 ca.ab 4r%.4Rrs.2s 8r3® _ Mitrinovic /2r Euler
=—. = =—.s2 > (—) .27r% >

R2 4R? RZ 4R?2 R3 R

cyc

23 2r\> mZm?2 wZw? hZh? 2r\°
(—) 2712, ( ) >4 b "bc, ca 227r2.(—> and so,

R R wow, hyhe mum, R

2r\® mZm2 wZw? hZhZ 27 R\®
27r2. ( ) < b be  ca 27 27R2.<—> — 104r2
R w,wp, bhyh mum, ™ 4 2r

v AABC,' =" iff A ABCis equilateral (QED)



